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Can solve this problem using either an energy 1stLaw or entropy 2ndLa
perspective

Energy Perspective more intuitive

kopen adtEcu Oi W t F m i Oi Eeniece
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LmzUz m u Q W metre Note we can evaluate frische b c

o chose a Ct where all mass leaving
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Q metre in u t W heft hgCP const and thus

Q m Che u w Frie helt dt hgCDfmeCtIdt hgcp m

need to find M he U t w



m F Imi m
i s mean

V Vf P XVfgCP VfCP O001154 m31kg
T
0.7 TfgCP 0.130556 m31kg

v O 0925 m3kg
m o.LIzmgkg kg

he he_hgCP 2791.0 KJ1kg
U i U UfCP xUfg P g Uf P 842 82 KJ1kg

UfgCP 1750 6 KILkg
U 2068.2141kg

Wi w fPdf P fdf Pot P tf t Pt
T E

const

W I 5 Mpa 2ms 3000KS W

Finally Q 21.614g 2791O 2658 2 KJ14g 3000 KJ

Q 12620 Kj Q 12 com I

Entropy Perspective faster
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need me Tbdy Seis

meO see above 1.5 mpa

Tbdy Tody Tsat P 198.29 C Note this is Celsius



Se i Se SgCP 6.4430 Kd1kg K

S s s SfCP XSfgCP SfG 2.3143 KSkg K

SfgCP 4.1287 Ks1kg K
S 5.2044 Kd1kgK

Q 21.614g 198.29 t 273714 6.4430 5.2044 KJ 1k H
Q 12616 KJ I Q 12 com
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